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Definition
B {x, t IR 5 IZHET 5 -

Xp — 00 (n — +00)

X, FEDOR>1IZHUTES NBEELT

R<x, (n>N)
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Example 1 x,=n( n=1,23...)¢d5&

Xn — +00

VR>1%2MD 9. Zorx
R—1<[R]<R
BROTN=[R|+1ELET. n>NAESE

R<[R]+1=N<n
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(1) xp = +00, yn — +00 (n — +00) 7R 51X

Xy = +00 (0= +00),  Xayn = +00
(2) xp = 400, yp —a>0 (n— 4o0) HHIX

Xp+ Yn — +00  (n = 400)
3) (BLHLDEH) x, - +oo (n— 4+00) T
Xn < ¥n (n> No)

Zii72 3R/ S N PFEET D01

Yn — +00  (n — +00)

(n — +00)
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FE11)VR>1ZHD XY, x, = +oo 5
E|/V1(I72/V1:>1<R<Xn)

Yn — +00 N5
HNQ(HZN2:>].<R<}/”)

N :=max(Ni,No) ELTn>NZSIEn> Ny DD n> Np DT

R<R+R<Xp+yn, R=1-R<R-R<x,-yn

Xp+ Yn — +00,  Xpyn — +00 (N — +00)
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EE1(2) B) 2MHVWET. y, >a>072DT, HEHFF No BWFEEL T

(6%
> b ad
n> Ny = 5 <Y<
MISLLUET. -

«
5 * Xp < XnYn (n > No)

IHiZa>0m6

= Xp — +00

LEREETHS (3) Ik oT

XnYn — +00
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EHE1(3) VR>1ZHVXT. x, > +oo D5
E|N1(I72N1=>R<Xn)
WM UET. N= max(No, Nl) 2 LT n> Ng 2 n> N 2o

R < xn <y

L7 EY.
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Example 2 EHL 1 D (1) 75
n? — +oo (n— +o0)

Example 3a,=n*>—n&3%. Nk a,=n*(1- %) EERT B L

1
an:n2(1—>—>+oo
n

EBREn? 5 4ol 1-151>020EH1D(2) WHEHATES.
Remark The Part (3) is called PUSH OUT Theorem in Japan. It means
OSHIDASHI, a winning trick of the Sumou.
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Example 4 2 > 172 5%
a" — +oo  (n— +0o0)

FhEa=1+035L0>0ThHY, 2HEHNS

n(n—1)

5 02+ +60">0n

a"=(1+0)"=1+n6+

BHES. 500 — +oo THBDT, FI13) 55 a" — +oo.
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(1) TRTOEFEZnIZHLTx, #0T, x, = +0o (n— +o00) B HIX

1
— =0 (n— +00)
Xn

(2) an >0 BMERED n IZHLUTHILLT, a, = 04 6I1E

1
— =+
an
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FEHE 2(1)—FEHH

Ve>0&MV &Y. TUTR:=1>0LL&EF. ZDLEx - oo
mo
AN(n>N= R < x,)
s n>NZHIE . .
0<;n<ﬁ:€
THDI ey 7.
(2) BAKTY. FEOR>LIZHLTe=4 LEDET.
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JREBRLE 5 DRRER (1)
g: (A +0)—=R
(1)
gx) > aeR (x— +00)
E M

Xp € (A, +00), X — +0o0 (n— +00)

BT {x,} BT

gln) >0 (0 +o0)
iz EThB.
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JE PRz 5 DRRER (2)
(2)
g(x) = 400 (x = +00)
CAF M
€ (A +0), xp,—+o0 (n— +0)
Z 72 3B {xp} DIBT

g(xn) = 400 (n — +00)
Ziiz3d e ETHS.
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[ElfE 72 E# (Equivallent Definitions)

(1) g(x) > o € R (x = +00) if and only if for any € > 0, we can find
R > 0 satisfying
a—e<g(t)<a+e (t>R)

(2) g(x) = 400 (x = +00) if and only if for any R > 1, we can find
Ro > 0 satisfying
R<g(t) (Ro<t)
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Examples

Example 5 We consider

Then
g(x) =0 (x— 4o0)

Take a sequence {x,} satisfying
Xn >0, x5, — 400

Then it follows from Theorem 2 that

g(xn) = xi —0 (n— +00)

n
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Theorem 3

Theorem 3

2 DDA
f(x): (A+o0) =R, g(x): (A +o0) =R
Mx— +oo D& E
f(x) >a€R, g(x)—pF€R

i B W
(1) f(x) £ g(x) > a£ 8 (x = +o0)

(2) f(x)g(x) = ap (x = +o0)
() g(x) £0 (x> A) TRAOLTHE
f(x) a
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